HENDRIX PART

ITEM i DESCRIPTION QTY
1 POLEXX POLE (TYPE, CLASS & LENGTH AS REQ)) 1

2 SC-2C5.21 35-46KV, 3-PHASE PRIMARY DOUBLE SUPPORT - SINGLE DEADEND 1

24| HDTC THIMBLE CLEVIS - 40,000 LBS. 1

22 | MG-0000 PREFORMED GRIP, MESSENGER (SIZE & KIND AS REQ) 1

23 | DEINS35 INSULATOR - DEAD END, 35KV 3

24 | 1C CLEVIS - THIMBLE 3

25 | CG-0000 PREFORMED GRIP, CONDUCTORS, COATED (SIZE & KIND AS REQ)) 3

26 | XARM-8FT-XX CROSSARM, 3.5/8 X 4-5/8 X 8-0" 2

27 | BRACE28INXX _ |BRACE, 26" 4

28 | EBLTTBXX BOLT, EYE, 3/4" X REQ. LENGTH 1

29 | DABLTS/8-XX BOLT, DOUBLE ARMING, 5/8" X REQ. LENGTH 3

210 | CBLT3/8 BOLT, CARRIAGE, 3/8 X 4-1/2" 4

211 | SLSCREW 0.5000x4 2

212 | SWSHS/B-XX WASHER, SQUARE, 5/8 X 2-1/4" 10

213 | SWSH3/A-XX WASHER, SQUARE, 3/4 X 2-1/4" 2

214 | LWSHS/8 WASHER, SPRINGLOCK, 5/8" T

245 | LNUT3/8 LOCKNUT, 3/8" 4

216 | LNUT58 LOCKNUT, 5/8" 8

217 | ENUT5/8-XX NUT, EYE, 5/8" 3 | RED ITEMS ARE NOT SUPPLIED BY HENDRIX

3 SC-U.03G 3-PHASE PRIMARY TRANSITION OR TAP TO UNDERGROUND RISER GUIDE | 1 )

34 | LINEDUC-00 LINE-DUC 8 SECTION (COLOR AS REQ)) 1 ®
32 | TAPOOCUSXX TAP WIRE, COVERED, 6' LENGTH (SIZE AS REQ.), CUT TO SUIT 1 r

33 | MOUNTXX EQUIPMENT MOUNT (TYPE AS REQ.) 2 *,en d ,x

34 | CUTOUT-XX FUSED CUTOUT (TYPE & VOLTAGE RATING AS REQ)) 3

35 | URDTERM-XX TERMINATOR, UNDERGROUND CABLE (TYPE & RATING AS REQ)) 3 AERIAL CABLE SYSTEMS

j-G S’;ﬁngER'XX gggmm QZTJTSI;ZELLYEF;E?AE?ENG ASREQ) f 53 OLD WILTON RD. * MILFORD, NH 03055 = (603) 673-2040
41 | GNDWIREXX GROUNDWIRE, COPPER, #6 AWG (MIN) (LENGTH AS REQ)) 1| DESIGN PARAMETERS:

42 | CONNECTOR-XX _|GROUND CONNECTOR - PARALLEL GROOVE 2 |KVCLASS:  35-46kV

43 | STAPLEXX GROUND WIRE STAPLE (SIZE & TYPE AS REQUIRED) 1 |LINE ANGLE: 0°

44 | GNDASSY-XX GROUND ASSEMBLY (TYPE AS REQ,, NOT SHOWN) 1

5 SC-E.01G GUYING GUIDE, SPACER CABLE 1 REVISION:
51 | POLEEYE-XX POLE-EYE PLATE (SIZE AND STRENGTH AS REQUIRED) 1 35-46KV. 3-PHASE PRIVARY DRAWING NO.-
52 | GUYSTRAIN-XX _ |GUY STRAIN (SIZE & TYPE AS REQUIRED) 1

53 | GUYSTRAND-XX _ |GUY STRAND (SIZE AND TYPE AS REQUIRED) 1 DEADEND, CROSSARM (WOOQD) AC 1 2 89 0 2
54 | ANCHORASSY-XX |ANCHOR AND ANCHOR ROD (SIZE AND TYPE AS REQUIRED) 1 WITH 3-PHASE UNDERGROUND RISER -




	Sheet1
	Drawing View1
	Drawing View2


